\-/ CA RAT W—3011 LASER ART. NO.: MZW3011L00

DATE: 01/12/2014




2 CARAT

W-3011 LASER

57 | VOORFLENS W-3011 XAM-NH1001
58 | LAGERRING W-3011 XAM-EXR101
59 | QUADRING 17X2.6 W-3011 XAM-E4022K
60 | FLENS W-3011 XAM-NH1007
62 | BUITENFLENS W-3011 XAM-NH1005
63 | ZESKANT FLENS BOUT M8X16 W-3011 XAM-FBE816
64 | WATERSLANG W-3011 XAM-N14081
65 | FLOWMETER W-3011 XAM-N14082
66 | KOGELKRAAN W-3011 XAM-F43340
67 | GARDENA TULE MESSING W-3011 XAM-F20150
68 | CILINDERSCHROEF M5X10 W-3011 XAM-FZ4210
69 | STICKER "DUSTEC" W-3011 XAM-6C6014
70 | BESCHERMPLAAT W-3011 XAM-6C6001
71 | CILINDERSCHROEF M5X12 W-3011 XAM-FZ0512
72 | GELEIDESTRIP W-3011 XAM-6(C6003
74 | KAP W-3011 XAM-6C6020BL
76 | BORGKNOP W-3011 XAM-6C6012
78 | VULRING STOFTULE W-3011 XAM-NH1033
80 | STOFAFZUIGPIJP W-3011 XAM-NS15014
81 | DEKSEL @32 MM W-3011 XAM-F41292
82 | WIEL W-3011 XAM-6C6005
83 | WIELBUS W-3011 XAM-6C6004
84 | SEEGERRING 15MM W-3011 XAM-FR0150
85 | VULBUS W-3011 XAM-6C6006
86 | BEUGEL W-3011 XAM-6C6027
88 | VEERCILINDER W-3011 XAM-F6B316L
89 | WIELAS - KORT W-3011 XAM-6C6029
90 | WIELAS - LANG W-3011 XAM-6C6030
91 | CILINDERKOPBOUT M5X55 W-3011 XAM-FBC755
93 | ZESKANT BOUT M8X170 W-3011 XAM-FC08170
94 | BORGING W-3011 XAM-6C6008
95 | RING W-3011 XAM-FS08Z0
96 | GELEIDINGSSTRIP W-3011 XAM-6(6013
97 | LAGE CILINDERKOPBOUT M8X16 W-3011 XAM-FBB816
99 | AFDEKPLAAT W-3011 XAM-6C6009
100 | GELEIDINGSPLAAT W-3011 XAM-6(6010
101 | AFDEKKAP ROND W-3011 XAM-F41293
102 | HANDGREEP W-3011 XAM-NH1030
103 | CILINDERKOPBOUT BZK M5X16 W-3011 XAM-FBC716
104 | EXC. LASERHOLDER W-3011 XAM-NH1031
105 | LASER HOUDER W-3011 XAM-NS15027
106 | STELSCHROEF M5X6V XAM-FIK0506
107 | STELSCHROEF M5x10 W-3011 XAM-FIK051
108 | LAAGBOLKOPSCHROEF M5X10 W-3011 XAM-FBE710
109 | ALUMINIUM KOFFER W-3011 ZVMKW30110
111 | RING/STEEKSLEUTEL 13 MM XAM-G10540
112 | GEBRUIKSAANWIJZING W-3011
113 | PAKKING TBV W-3011 XAM-NH1020
114 | THERMISCHE BEVEILIGING W-3011 XAM-NH1021
115 | BESCHERMKAP THERMISCHE BEVEILIGING W-3011 | XAM-NH1022

OMSCHRIJVING ONDERDEELNR
1| STICKER TBV TYPLAAT W-3011 XAM-N140281
2 | TYPEPLAAT W-3011 XAM-6C6034
4 | SCHROEF M5x65 W-3011 XAM-NH1167
5 | KOOLBORSTELDOP W-3011 XAM-NH1168
6 | KOOLBORSTELSET W-3011 XAM-NH1169
7 | MOTORHUIS W-3011 XAM-NH1170
8 | LAGER ANKER ACHTER W-3011 XAM-EAQ07E
9 | ISOLATIERING W-3011 XAM-NH1172

10 | VELD W-3011 XAM-NH1165
11 | SCHROEF M5x80 W-3011 XAM-NH1164
12 | ANKER W-3011 XAM-NH1163
13 | LUCHTRING W-3011 XAM-NH1162
14 | WAAIER W-3011 XAM-NH1161
15 | KOGELLAGER W-3011 XAM-EA026C
16 | HANDGREEP W-3011 XAM-NH1132
17 | ELEKTRONISCH REGELING W-3011 XAM-NH1138
18 | LASERVOEDING W-3011 XAM-NS15025
19 | CONDENSATOR W-3011 XAM-NH1137A
20 | CONDENSATOR W-3011 XAM-NH1137
21 | ONTGRENDELKNOP W-3011 XAM-NH1133
22 | SCHAKELAAR MOTORREM W-3011 XAM-NH1136A
23 | SCHAKELKNOP W-3011 XAM-NH1135
24 | VEER W-3011 XAM-NH1134
25 | SCHAKELAAR W-3011 XAM-NH1136
26 | SCHROEF 4x18 W-3011 XAM-NH1144
27 | KABELKLEM W-3011 XAM-NH1145
28 | KABELTULE W-3011 XAM-NH1146
29 | CILINDERKOPBOUT M5X35 W-3011 XAM-FBC735
30 | SLUITRING M5 W-3011 XAM-FS0500
31 | SCHROEF W-3011 XAM-NH1131
32 | ELEKTRO KABEL W-3011 XAM-6(C6028
33 | VEILIGHEIDSCHAKELAAR W-3011 XAM-902024
34 | ELEKTRO KABEL W-3011 XAM-6C6026
35 | ELECTROKABEL COMPLEET W-3011 XAM-6(6024
36 | CILINDERSCHROEF M4x10 W-3011 XAM-FZ4110
37 | AARDEKABEL W-3011A W-3011 XAM-6(6031
38 | TANDVEERRING M4 W-3011 XAM-FV04TV
39 | 0-RING 32X1.5 R W-3011 XAM-E4032B
40 | KABEL THERMISCHE BEV. W-3011 XAM-6C6025
42 | VERSNELLINGSBAK W-3011 XAM-NH1004
43 | LIBELLE CILINDERVORMIG W-3011 XAM-N14034
44 | SEEGERRING 12MM W-3011 XAM-FR0120
45 | KOGELLAGER W-3011 XAM-EAQ18A
46 | TANDWIEL W-3011 XAM-NH1124
47 | DRUKVEER W-3011 (@ 32 mm) XAM-NH1122
48 | DRUKVEER W-3011 (@ 24,5 mm) XAM-NH1123
49 | PASBUS LAGERHUIS W-3011 XAM-NH1120
50 | HOOFDAS W-3011 XAM-NH1002
51 | SEEGERRING 47MM W-3011 XAM-FR1470
52 | KEERRING 32X47X6 W-3011 XAM-E30A32
53 | KEERRING 30X42X6 W-3011 XAM-E30A30
54 | SEEGERRING 40MM W-3011 XAM-FR1400
55 | KOGELLAGER W-3011 XAM-EA036A
56 | 0-RING 40X1.5 W-3011 XAM-E4039A

SPARE-PART LIST W-3011 LASER 2014

01/12/2014




W-3511 LASER

ART. NO.:

MZW3511L00

DATE:

01/12/2014

\» CARAT




2 CARAT

W-3511 LASER

57 | VOORFLENS W-3511 XAM-NH1001
58 | LAGERRING 6203 W-3511 XAM-EXR101
59 | QUADRING 17X2.6 W-3511 XAM-E4022K
61 | FLENS W-3511 XAM-NH1008
62 | BUITENFLENS W-3511 XAM-NH1005
63 | ZESKANT FLENS BOUT M8X16 W-3511 XAM-FBE816
64 | WATERSLANG W-3511 XAM-N14081
65 | FLOWMETER W-3511 XAM-N14082
66 | KOGELKRAAN W-3511 XAM-F43340
67 | GARDENA TULE MESSING W-3511 XAM-F20150
68 | CILINDERSCHROEF M5X10 W-3511 XAM-FZ4210
69 | STICKER "DUSTEC" W-3511 XAM-6C6014
70 | BESCHERMPLAAT W-3511 XAM-6C6001
71 | CILINDERSCHROEF VER. M5X12 W-3511 XAM-FZ0512
73 | GELEIDESTRIP W-3511 XAM-6C7003
75 | KAP_W-3511 XAM-6C7020BL
77 | BORGKNOP W-3511 XAM-6C7012
79 | VULRING STOFTULE W-3511 XAM-NH1032
80 | STOFAFZUIGPIJP W-3511 XAM-NS15014
81 | DEKSEL @32 MM W-3511 XAM-F41292
82 | WIEL W-3511 XAM-6C6005
83 | WIELBUS W-3511 XAM-6C6004
84 | SEEGERRING 15MM W-3511 XAM-FR0150
85 | VULBUS W-3511 XAM-6C6006
87 | BEUGEL W-3511 XAM-6C7027
88 | VEERCILINDER W-3511 XAM-F6B316L
89 | WIELAS - KORT W-3511 XAM-6C6029
90 | WIELAS - LANG W-3511 XAM-6C6030
91 | CILINDERKOPBOUT M5X55 W-3511 XAM-FBC755
93 | ZESKANT BOUT M8X170 W-3511 XAM-FC08170
94 | BORGING W-3511 XAM-6C6008
95 | RING W-3511 XAM-FS08Z0
96 | GELEIDINGSSTRIP W-3511 XAM-6(6013
97 | LAGE CILINDERKOPBOUT M8X16 W-3511 XAM-FBB816
99 | AFDEKPLAAT W-3511 XAM-6C6009
100 | GELEIDINGSPLAAT W-3511 XAM-6(6010
101 | AFDEKKAP ROND W-3511 XAM-F41293
102 | HANDGREEP W-3511 XAM-NH1030
103 | CILINDERKOPBOUT M5X16 W-3511 XAM-FBC716
104 | LASERHOUDER W-3511 XAM-NH1031
105 | LASER W-3511 XAM-NS15027
106 | STELSCHROEF M5X6 W-3511 XAM-FIK0506
107 | STELSCHROEF M5x10 W-3511 XAM-FIK051
108 | LAAGBOLKOPSCHROEF M5X10 W-3511 XAM-FBE710
110 | ALUMINIUM KOFFER W-3511 ZVMKW35110
111 | RING/STEEKSLEUTEL 13 MM W-3511 XAM-G10540
112 | GEBRUIKSAANWIJZING W-3511
113 | PAKKING TBV W-3511 XAM-NH1020
114 | THERMISCHE BEVEILIGING W-3511 XAM-NH1021
115 | BESCHERMKAP THERMISCHE BEVEILIGING W-3511 | XAM-NH1022

OMSCHRIJVING ONDERDEELNR
1| STICKER TBV TYPEPLAAT W-3511 XAM-N140281
3 | TYPEPLAAT W-3511 XAM-6C7034
4 | SCHROEF M5x65 W-3511 XAM-NH1167
5 | KOOLBORSTELDOP W-3511 XAM-NH1168
6 | KOOLBORSTELSET W-3511 XAM-NH1169
7 | MOTORHUIS W-3511 XAM-NH1170
8 | LAGER ANKER ACHTER W-3511 XAM-EAQ07E
9 | ISOLATIERING W-3511 XAM-NH1172

10 | VELD W-3511 XAM-NH1165
11 | SCHROEF M5x80 W-3511 XAM-NH1164
12 | ANKER W-3511 XAM-NH1163
13 | LUCHTRING W-3511 XAM-NH1162
14 | WAAIER W-3511 XAM-NH1161
15 | KOGELLAGER W-3511 XAM-EA026C
16 | HANDGREEP W-3511 XAM-NH1132
17 | ELEKTRONISCH REGELING W-3511 XAM-NH1138
18 | LASERVOEDING W-3511 XAM-NS15025
19 | CONDENSATOR W-3511 XAM-NH1137A
20 | CONDENSATOR W-3511 XAM-NH1137
21 | ONTGRENDELKNOP W-3511 XAM-NH1133
22 | SCHAKELAAR MOTORREM W-3511 XAM-NH1136A
23 | SCHAKELKNOP W-3511 XAM-NH1135
24 | VEER W-3511 XAM-NH1134
25 | SCHAKELAAR W-3511 XAM-NH1136
26 | SCHROEF 4x18 W-3511 XAM-NH1144
27 | KABELKLEM W-3511 XAM-NH1145
28 | KABELTULE W-3511 XAM-NH1146
29 | CILINDERKOPBOUT M5X35 W-3511 XAM-FBC735
30 | SLUITRING M5 W-3511 XAM-FS0500
31 | SCHROEF W-3511 XAM-NH1131
32 | ELEKTRO KABEL W-3511 XAM-6(C6028
33 | VEILIGHEIDSSCHAKELAAR 10 MA W-3511 XAM-902024
34 | ELEKTRO KABEL W-3511 XAM-6C6026
35 | ELECTROKABEL COMPLEET W-3511 XAM-6(6024
36 | CILINDERSCHROEF M4x10 W-3511 XAM-FZ4110
37 | AARDEKABEL W-3511 XAM-6(6031
38 | TANDVEERRING M4 W-3511 XAM-FV04TV
39 | 0-RING 32X1.5 R W-3511 XAM-E4032B
40 | KABEL THERMISCHE BEV. W-3511 XAM-6C6025
42 | VERSNELLINGSBAK W-3511 XAM-NH1004
43 | LIBELLE CILINDERVORMIG W-3511 XAM-N14034
44 | SEEGERRING 12MM W-3511 XAM-FR0120
45 | KOGELLAGER W-3511 XAM-EAQ18A
46 | TANDWIEL W-3511 XAM-NH1124
47 | DRUKVEER W-3511 (@ 32 mm) XAM-NH1122
48 | DRUKVEER W-3511 (@ 24,5 mm) XAM-NH1123
49 | PASBUS LAGERHUIS W-3511 XAM-NH1120
50 | HOOFDAS W-3511 XAM-NH1002
51 | SEEGERRING 47MM W-3511 XAM-FR1470
52 | KEERRING 32X47X6 W-3511 XAM-E30A32
53 | KEERRING 30X42X6 W-3511 XAM-E30A30
54 | SEEGERRING 40mm W-3511 XAM-FR1400
55 | KOGELLAGER 6203 W-3511 XAM-EA036A
56 | 0-RING 40X1.5 W-3511 XAM-E4039A

SPARE-PART LIST W-3511 LASER 2014

01/12/2014




	TT-MZWB3011
	TT-MZWB3511

